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General Instructions :

1
2

Candidate must write his’/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of
questions contained in the Question Paper are the same as those printed on the top of the
first page. Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
Answer-Book given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate.

Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or
any such electronic devices in the Examination Hall.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper Code No. 69/MAY/4, Set | A | on the Answer-Book.
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(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours
only.

A AFasT -

1
2

el UsT-UF % UE UNS UX STUAT ShAIh oAy foe |
FUAT YT Bl AT @ b UT-UT b HA YS! qAT Y Bl Ia! & WA & fraAr gem
U % G99 HUX BU T 39 91 B dArg W B o o U9 wivs w9 A ¥
yeel ¥ oMUl AR fa@wedt (A), (B), (C) a1 (D) ® ¥ I3 Th AT GAT & T &
T TaR-gRasdl § G wO fee ¥
JEgfTss el & wrg—|re gl gel & A Mgl e@fy & Hiax & < €1 agirss et
% g e & g9g & fean s
ST-—gRasd ¥ wEaH-fus S styar i Wt & sifiiea wel Wt rgwaie fay X
ThETt B ST ST SR
el Bl wlie B o hegpeie], WIS BF, U, TICEM I B Y seiazitie Sumie
B T TN B SACT TE T
-0 | ol W YR o HaE e gigen & Rufa § SN ergare € | Enm|
Tl ITX—YRABT T Y979 &1 ®is 4. 69/ MAY/4, ¥ |A | e
(®) WU haw fEai/eieh ¥ ¥ AT Y, afe emg @ o A & 72 foRdl ua wron o
ST 9ahd ©
ehiepull, ARTYY, ST, TUTel!, BRI, T&hd S |
FUAT I-YRawr # iy U gt § o 6 o fpw Ao § I fow @ 2
(@) afy eng &S ua ol & arfaivaa fopelt o wror ® IR foad ¥, weAT &l a9s
¥ e At Ffeat / Tt B T daw smael gRl

(1)
(2)

\.

[NOTE / fifst:

Answers of all questions are to be given in the Answer-Book given to you.

Yl Tl % IAT MUl o1 T SAY gRaer | @ fae|

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the
students will read the question paper only and will not write any answer on the
answer-book during this period.

39 WIT-U5 & TS & AU 15 e &1 98y feun T 319U a1 feawer
AUEY ¥ 02.15 99 fopar STl 02.15 S ¥ 02.30 §9 dh BE hdd
YT bl YT 3K 3H ATy % R I TAC-YReehl T HIE I TRl ferEdiT 1
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Time : 3 Hours] [Maximum Marks : 100
g : 3 gue] [quiies : 100
Note :
(i) This question paper consists of 54 questions in all.

(i1))  All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section — A consists of :

(a) Q. No. 1 to 20 - Multiple Choice Questions (MCQs) carrying 1 mark each.
Select and write the most appropriate option out of the four options given in
each of these questions.

(b) Q. No. 21 to 35 - Objective type questions carrying 2 marks each (with 02
sub-parts of 1 mark each). Attempt these questions as per the instructions given
for each of the questions.

(v) Section — B consists of :

(a) Q. No. 36 to 46 - Very Short Answer type questions carrying 2 marks each to
be answered in the range of 30 to 50 words.

(b) Q. No. 47 to 52 - Short Answer type questions carrying 3 marks each to be
answered in the range of 50 to 80 words.

(¢) Q. No. 53 and 54 - Long Answer type questions carrying 5 marks each to be
answered in the range of 80 to 120 words.

o : (i) 39 999 H $a 54 U %

(i) = 99q orfrerd ¥\

(iii) Y% 9T & 8% I |EH q9fY MY |

(iv) - & 9T 39 UBR ¢ :

(a) WeT dE&m 1 ¥ 20 Sgiasedl Yot (MCQs) & U, U&d 1 3 &
T3 Ul H Udd U ¥ i M fyeedl W ¥ 999 Suge SaX g
3R faRag|

(b) Ut dE&m 21 § 35 % IS UBR & U §, UAH 2 IhH B ¥
(U 1 3 & 2 SWHT & 1Y) 39 U9l & I, Tdd 999 o
T FEel & STER Al

(V) @E—9 % U 39 UBR & :

(a) UST AT 36 ¥ 46 T Sifaeg AT UHK &, U 2 3Bl b U ¥,
e At 30 § 50 st # famm s ®

(b) ST HEAT 47 ¥ 52 I WY I YHN &, YA® 3 3l &b U &, Feewr
AT 50 ¥ 80 ereai H femm S OB

(c) 9T TE&AT 53 3 54 Y IO YA &, TAD S5 bl &b U9 &, Fiviewr
ST 80 § 120 gl H femm & R
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SECTION - A
qug — &

1  Which of the following statement is correct ? 1
(A) Both goods and services satisfy our wants.
(B) Services are tangible in nature.
(C) Wheat flour is a free good.
(D) Public goods are exclusively enjoyed by the individuals.
= o A Bl B wEl g7
(A) gQ SR Famd TH AT STaggewarstl & g B ¢ |
(B) ¥aretl @l 3T W1 Hohdl & |
(C) g & el T o oxg & |
(D) W% U %o AfRTd ®9 d IUART Bl S 2 |

2 Which type of goods from the following satisfy your wants in your daily life? 1

(A) Public goods (B) Economic goods
(C) Free goods (D) All of these
Frer & & opm Wb 1 QY o WIS d g e 7
(A) dE=Ie TRy (B) omte gl
(©) o g (D) S @
3 Which good out of the following can both be a single-use producer good 1
and a single-use consumer good ?
(A) Machinery (B) Raw material
(C) Sugarcane (D) Tractor

= o 9 B9 95 THA-IUANT SAEH A% X Tha—SUaNT ST a%g I &l
el & 7

(A) w3t= (B) wear A
(C) = (D) ¥FX
4  Foreign production units are called : 1
(A) Multinationals (B) Collaborations
(C) Both (A) and (B) (D) None of the above
faaslt SameT soEal @ 9% e @
(A) wgaeE frm B) Frsh e
(C) (A) 3 (B) 2N (D) Sl § § @ig TE
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5  Self employed doctors are example of : 1

(A) Indigenous production units  (B) Partnership

(C) Co-operative society (D) Private Non-Profit Organization
WA Sleey gHeh SaTEL 8

(A) =X SR FHAT (B) @@=

(C) weabrll |iHfa (D) frsit fe-—rwepr g

6  Which cost out of the following is calculated between two successive levels 1

of output ?
(A) Total cost (B) Average cost
(C) Marginal cost (D) None of the above
1 & § B4 a0 SAET % & IAUA &R 9T A A 8 7
(A) F w (B) i @
(C) dmia @ (D) T ¥ ®ig T
7  Which revenue out of the following is equal to the price ? 1
(A) Average Revenue (B) Marginal Revenue
(C) Total Revenue (D) All of the above
/1 & ¥ SFE-H o™ BEa % TS B 6 7
(A) efEa em (B) @i amm
(C) P& T ™ (D) HUX & g
8 A shopkeeper sells 20 kg of dal at Rs. 15 per kg and 21 kg of dal at 1
Rs. 19 per kg. Calculate the Marginal Revenue.
(A) Rs. 100 (B) Rs. 99
(C) Rs. 98 (D) Rs. 96

T gahar 20 feelt & 15 %. ufd fbet & 37 ¥ &R 21 fohel 3 19 . 9id fopelt
% & Y ST ¢ | HEid S S BT
(A) 100 ®. (B) 99 %.
(€) 98 = (D) 96 %.
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9  Which type of money is guaranteed by the Government of India ? 1
(A) Cattle (B) Salt
(C) Currency notes and coins (D) None of the above

HRAd TXHR g 68 YR &l qa1 &l Argar & % & ?

(A) 9g (B) =&
(C) &/ e ud foas (D) T ¥ § B3 Tl
10 In the process of credit creation which type of deposits are recorded ? 1
(A) Primary Deposits (B) Secondary Deposits
(C) Both (A) and (B) (D) None of the above
T frtor &1 ufohar &1 fpd gt & o § erfuiaRaa feem s & 7
(A) wrafyes s (B) faime s
(C) (A) i (B) g (D) = @ @ix &
11 Which of the following bank issues currency notes ? 1

(A) State Bank of India

(B) Industrial Financial Corporation of India

(C) Punjab National Bank

(D) Reserve Bank of India

/=1 o @ s d% B A @ FEitE (S s g
(A) ®We §& % sfean

(B) i sfenfies femita frrm

(C) U A9Fe S

(D) T d& ot 3fean

12 A system of mutual exchange of goods is called . 1
(A) Barter system (B) Monetary system
(C) Either (A) or (B) (D) None of the above
Jegatl 1 uREie fafma goner @ wed ©
(A) =g fafr ol (B) i worre
(C) (A) T (B) (D) = @ Bix &
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13 A bank received a deposit of Rs. 10,000 and gave a loan of Rs. 8,000 to a 1
borrower. How much is the secondary deposit ?

(A) Rs. 18,000 (B) Rs. 10,000

(C) Rs. 8,000 (D) None of the above

Teh § 10,000 &. STHT 9T diar & 3 8,000 ©. &1 KU1 Ueh SEehdl bl 2T |
RRCARFGIRCRY L 0 I

(A) 18,000 =. (B) 10,000 =.
(C) 8,000 %. (D) T ¥ @r5 &l
14  Which of the following sectors are included in the primary sector of our 1
economy ?
(A) Fishery (B) Forestry

(C) Agriculture and Allied activities (D) All of the above
e & @ a9 & ® oAl ordfeaaran & wrafte ame W i fpm wmar ¥ 7

(A) A7 g@ (B) =t
(C) iy wd wafem frar (D) & % =
15 When a country has economic relationship with the other countries it is 1
called ?
(A) Open economy (B) Developed economy
(C) Developing economy (D) Closed economy
o fpdll 391 @1 onfdies W @Y IS % WY BT ¥ Al 39 dEd ©
(A) G sredegaw (B) faemfaa srefemeawen
(C) faeprasiiar sredfegawen (D) o= srdegaw
16 Which is the advantage of international trade out of the following ? 1

(A) Interaction of people of different countries

(B) Production of new goods and services is encouraged.
(C) Both (A) and (B)

(D) None of the above

e & q @ S AR b @Y § 7

(A) fafe=T 2o & @M 9 qRERe Jasid

(B) 3 agell ofiX danet & Iaed & Ui

(C) (A) & (B) g

(D) ¥ & &g T
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17  Which out of the following is abiotic component of the environment ? 1

(A) Plants (B) Birds

(C) Forests (D) None of the above
1 o ¥ S| TR & STifad " § 7

(A) Tz-qg (B) wef

(C) = (D) = ¥ ®ig T

18 Which agency around the world advocates the protection of the environment? 1
(A) United Nations Environment Programme
(B) Environment Protection Agencies (EPA)
(C) Intergovernmental Panel on Climate Change (IPCC)
(D) All of the above
o & 9 BA-a wen fasg ¥ qafaer @ @ aewa Hr § 7
(A) HZaH TE TGO B
(B) vferReT e e
(C) Siisag Siaary uftadd 9X gvs faum

(D) SUHIERT HIRA
19  Which out of the following is a consumer help organisation ? 1
(A) Consumer Grievance (B) Jago Grahak Jago

(C) Consumer Guidance Society (D) Consumer Forum

= o 9 ®9-g1 SUHeT 9w e § 7

(A) ST ST (B) SN Ew S
(C) Suvigan fyeraa afifa (D) SUHERT ®IRA
20  Which Consumer Right helps the consumer to fearlessly voice their 1
complaint ?
(A) Right to be Heard (B) Right to Choose
(C) Right to Safety (D) Right to Information
1 & ¥ BA—a1 SUHieT e SUHeRST i e gl Rierad WX eia I8
o HaE Bl B
(A) G @ AIBR (B) T @ AfdR
(C) e &1 s (D) @ @I 3B
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21 State whether the statements given below are True/False : 2
(A) Free goods are free gifts of nature.

(B) Value of durable use consumer goods get depreciated.

Iaarey 6w 9 Y ™ s 98 ¥ A W ¢

(A) JH TGH IS B 9 § IUEK &
(B) <rHiide Il aigel w1 qed gedl Sl g |

22 Fill in the blanks : 2

in the production of goods and services determines the level of

ECHIRSILIC RO
Jegatl o Farell & I H &% WX @ My s 2
23 State whether the statements given below are True/False : 2

(A) Demand is a desire backed by the ability to purchase.

(B) An improvement in the technology of production increases the cost of

production which leads to decrease in the supply of the given ccommodity.

Fasd 6 = R ™ wuT w2 § a1 T
(A) 9T Th T 31 ¥ REd O B HE B argan )
(B) SdET dhe o U SET & AN H ghg &Il & Sl hal aig @l gfd @l

HH BT 5
24 Fill in the blanks : 2
The representation of Law of Supply is called the Curve.
e wm afy
ufed & e @ ERUR I GIRIRC Ieh HEA ¢ |
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25 Fill in the blanks : 2
If the number of of a commodity is large the market demand for
the commodity will be
o = wiE

3R Tl axg & B GE&T Sffe BN A1 SR H 39 A% Bl A
B

26 Fill in the blanks : 2
Law of demand shows relation between price and demand and this is

why demand curve is sloping.
ECHIRSIL I RO

AT @1 99 @Ea ik 91 & 9= Y 9T §, THMMU HOT I
3T B &

27 Fill in the blanks : 2

information like ‘good’ is an example of an

o @ Wi
AT Y T U IIEAT B |
28 State whether the statements given below are True/False : 2

(A) 100% accuracy in Statistics is neither possible nor desirable.
(B) Forecasting is done on the basis of economic planning.

gaasy 6 e g ™ s w6 ¥ a1 e
(A) diteal § |1 gfasa & goar (RSN 1 a1 g9 a & A1 & ais-E |
(B) onfie e & eme ux wisgerel &t S ® |
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29 Fill in the blanks : 2

method can be used when the respondents are
o wm afy

faftr &1 SwErT fear o gear ® afe SatEmr T

30 Fill in the blanks : 2

Variables are of two types : and

o @ 9fy

T o YHR & B & ¢ qe

31 Fill in the blanks : 2

people work in business.
o e a9t
AT ¥ B B R

32 Fill in the blanks : 2

building is possible because of contribution of scale

industries.
e wm afd
&1 fmfor Y™ % ST & NG B BT & TG T
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33 State whether the statements given below are True/False : 2

(A) Compared to the service sector, agriculture sector provides more job
opportunities.

(B) A small scale industry can be established by spending a minimum of
Rs. 25 lakh on plant and machinery.

gad 6 19 o ™ e w9 € A1 e ¢
(A) Tl &5 B JAAT § B &F TR & e GHEIS Bl Giord Bl & |
(B) w< Td Al WX &H d &H 25 T@ S AT Hih qY AN & SERT Bl T

ST Hehdll 2|
34 Match the following columns : 2
Column 'A’ Column 'B'
A. Selling of goods and services (1)  Imports

by the domestic citizens to the
foreign citizens
B. International trade (ii)) Leads to specialization
(iii)) Open economy
(iv) Exports
o et @ free &Y

T F Y g’
A. R A g R A () om
B. &UE™ AMR (i)  fafdrieor & ggran
(iii) et arefereren
(iv) @
35 Fill in the blanks : 2
We can contribute to sustainable development by finding for

non-renewable resources and using renewable resources
o = wiE
TR AT &9 g fqeE § areE @ gahd § 1
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SECTION - B

gug — q

36 Explain the meaning of consumption as a basic economic activity. 2

s oNfes foham & SMUR & ®U o IUNRT & o1 H AT B |

37 Distinguish between labour-intensive technology and capital intensive 2

technology.
FA-TTET Td Yol Ted deiTel & S 3T<X WE HY |
OR / st

Distinguish between product based division of labour and process based
division of labour.

Iared omenyd gu-fauw ud yishar emenfiid sH-—faue= & 9 o W@E & |

38 Explain the difference between demand and desire. 2

39 Explain the ‘Measure of Value’ function of money. 2
T % el b 99 B Bl ATl B
OR / 3@t

A common problem with the barter system is ‘lack of division of goods’.
Explain.

T &b e @ ot a%g fafea wonel @ Ue 9 9ERI § | et B

40 What is the purpose of computing an average value for a set of data ? 2
STihs! % Ueh WE % [ohHT STET T &l TUMT B bl T 3599 o 7 ATl HL |
OR / 3ty

State any two functions of an average.

U ofda & b=l al ®rEf ol aTen il

69/MAY/4—214-A ] 13 N imwnwmmmwn [ Contd...



41 State formula for short cut method of calculating arithmetic mean with 2

meaning of symbols used.
HINIAG H1ed T URebad H @ @Y {9ty &1 Bl 9arEy ofik 368 uga
fa=et @1 ord saEu|

42 Describe ‘manufacturing’ as a production activity of the secondary sector. 2

fadae &5 & fafmior Sares fhanstt &1 aue &Y
OR / 3ty

How does agriculture provide food to millions in the country ?

fore g Y 391 § Al @I B A YSE BT § 7

43 Explain how trade encourages production of new goods and services. 2

T HY foh AR e Y& | 15 axgel U danstl % ITET Bl gTal odl § ¢

44 What are the effects of air pollution ? 2
g YW &b FIT Y9T & 7

45 What do you understand by ‘resource depletion’ ? 2
FHET & Y S RN FHA © 7

46 Explain the ‘Right to Information’. 2
Il b HAUBR Bl AT B |
OR / 3t
Explain the ‘Right to Consumer Education’.

IuHTerar frem & iU B AT |

47 Explain the role of capital as a factor of production. 3

SR & WEd % ®0 H Gl % AR Sl AT Bl |
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48 What are factor incomes ? Elaborate. 3

Y o T ¢ ¢ faacor fifwm)

49 ‘In government sector the supply of any single good/service depends on the 3

process-based division of labour’. Explain.

BRI & ¥ el Usp awg/aan &l gfd uishar e 99 fadme 98 MY &t 51
T B |
OR / sty

Distinguish between Explicit cost and Implicit cost.

WE TG SRUE ANTAl & 41 3T WE i |

50 Explain how money acts as a ‘Standard of deferred payment’ with the help 3
of a suitable example.

A& % HIE YA % AHE & &G H T & B D] AT U SaTe0 & Ter™dl
g Bl

51 How are statistics the ‘aggregate of facts’ ? (Give example) 3
fora R wiegal ‘a=dl &1 GE’ € ? SIEAW S|
OR / 3ty

How are statistics ‘numerically expressed’ ? (Give example)

it fpa Y gt § =aad B & ¢ I AT

52 Compare the economy of USA and China in terms of manufacturing. 3
fafmio & @ag § g ua.u. ok 99 &l srdegawnen &l gaar &1 |
OR / sy

Why is China attracting more money than India from foreign countries ?

FF AT B Ja | I fadet 9 oifue qET Bl i HT @I § 7
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53 Complete the following table : 5

Price of Quantity Supplied Market

shirts (Rs) | FIRM X | FIRMY | FIRM Z Supply
200 250 - 450 1400
300 400 - 800 2400
400 500 - 900 2800
500 600 - 950 3000
600 700 - 1000 3200

et i @ g -
T ufd & A TR
Fra (%) W A W | afd
200 250 - 450 1400
300 400 - 800 2400
400 500 - 900 2800
500 600 - 950 3000
600 700 - 1000 3200
54 Give five examples of economic relationship which a country can have with 5

other countries.

anfifes awell &% uig SaTeXoT ARTT ST Teh I9T 61 ST 39 & |1 &1 Foball |
OR / 3@t
(a) What are any six major items of exports of India?

(b) What are any four major items of imports of India?
(a) wRd & fFrafa & &5 6 gea w9 *|1 7
(b) WIRA & ST &l BIg 4 T&I 7S R & 7
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General Instructions :

1
2

Candidate must write his’/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of
questions contained in the Question Paper are the same as those printed on the top of the
first page. Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
Answer-Book given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate.

Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or
any such electronic devices in the Examination Hall.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper Code No. 69/MAY/4, Set |B| on the Answer-Book.

69/MAY/4—214-B | 1 N imwnwmmmwn [ Contd...



(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours
only.

A AFasT -

1
2

el UsT-UF % UE UNS UX STUAT ShAIh oAy foe |
FUAT YT Bl AT @ b UT-UT b HA YS! qAT Y Bl Ia! & WA & fraAr gem
U % G99 HUX BU T 39 91 B dArg W B o o U9 wivs w9 A ¥
yeel ¥ oMUl AR fa@wedt (A), (B), (C) a1 (D) ® ¥ I3 Th AT GAT & T &
T TaR-gRasdl § G wO fee ¥
JEgfTss el & wrg—|re gl gel & A Mgl e@fy & Hiax & < €1 agirss et
% g e & g9g & fean s
ST-—gRasd ¥ wEaH-fus S styar i Wt & sifiiea wel Wt rgwaie fay X
ThETt B ST ST SR
el Bl wlie B o hegpeie], WIS BF, U, TICEM I B Y seiazitie Sumie
B T TN B SACT TE T
-0 | ol W YR o HaE e gigen & Rufa § SN ergare € | Enm|
T IT—YRABT T Y979 &1 ®is 4. 69/ MAY/4, ¥ |B| e
(@) WU haw fEai/eieh ¥ 31 AT Y, afe eng @ o A & 72 foRdl ua wron o
ST 9ahd ©
ehiepull, ARTYY, ST, TUTel!, BRI, T&hd S |
FUAT I-YRawr # iy U gt § o 6 o fpw Ao § I fow @ 2
(@) afy eng &S ua ol & arfaivaa fopelt o wror ® IR foad ¥, weAT &l a9s
¥ e At Ffeat / Tt B T daw smael gRl

(1)
(2)

\.

[NOTE / ftat:

Answers of all questions are to be given in the Answer-Book given to you.

Yl Tl % IAT MUl o1 T SAY gRaer | @ fae|

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the
students will read the question paper only and will not write any answer on the
answer-book during this period.

39 WIT-U5 & TS & AU 15 e &1 98y feun T 319U a1 feawer
AUEY ¥ 02.15 99 fopar STl 02.15 S ¥ 02.30 §9 dh BE hdd
YT bl YT 3K 3H ATy % R I TAC-YReehl T HIE I TRl ferEdiT 1
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ECONOMICS

YT
(214)
Time : 3 Hours] [Maximum Marks : 100
g : 3 gue] [quiies : 100
Note :
(i) This question paper consists of 54 questions in all.

(i1))  All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section — A consists of :

(a) Q. No. 1 to 20 - Multiple Choice Questions (MCQs) carrying 1 mark each.
Select and write the most appropriate option out of the four options given in
each of these questions.

(b) Q. No. 21 to 35 - Objective type questions carrying 2 marks each (with 02
sub-parts of 1 mark each). Attempt these questions as per the instructions given
for each of the questions.

(v) Section — B consists of :

(a) Q. No. 36 to 46 - Very Short Answer type questions carrying 2 marks each to
be answered in the range of 30 to 50 words.

(b) Q. No. 47 to 52 - Short Answer type questions carrying 3 marks each to be
answered in the range of 50 to 80 words.

(¢) Q. No. 53 and 54 - Long Answer type questions carrying 5 marks each to be
answered in the range of 80 to 120 words.

o : (i) 39 999 H $a 54 U %

(i) = 99q orfrerd ¥\

(iii) Y% 9T & 8% I |EH q9fY MY |

(iv) - & 9T 39 UBR ¢ :

(a) WeT dE&m 1 ¥ 20 Sgiasedl Yot (MCQs) & U, U&d 1 3 &
T3 Ul H Udd U ¥ i M fyeedl W ¥ 999 Suge SaX g
3R faRag|

(b) Ut dE&m 21 § 35 % IS UBR & U §, UAH 2 IhH B ¥
(U 1 3 & 2 SWHT & 1Y) 39 U9l & I, Tdd 999 o
T FEel & STER Al

(V) @E—9 % U 39 UBR & :

(a) UST AT 36 ¥ 46 T Sifaeg AT UHK &, U 2 3Bl b U ¥,
e At 30 § 50 st # famm s ®

(b) ST HEAT 47 ¥ 52 I WY I YHN &, YA® 3 3l &b U &, Feewr
AT 50 ¥ 80 ereai H femm S OB

(c) 9T TE&AT 53 3 54 Y IO YA &, TAD S5 bl &b U9 &, Fiviewr
ST 80 § 120 gl H femm & R
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SECTION - A

gog — A
1 At how many units of labour, TP = AP = MP? 1
(A) 1 B) 0
) 2 (D) 5
9 & fhal 3% W P IAE = 3fFd IAR = WHid I B & 7
(A) 1 B) 0
C) 2 (D) 5
2 Which of the following statement is correct ? 1

(A) Both goods and services satisfy our wants.

(B) Services are tangible in nature.

(C) Wheat flour is a free good.

(D) Public goods are exclusively enjoyed by the individuals.

= o 9 -1 BuA W T 7

(A) =gQ SR Famd H AT STagearstl & g B ¢ |
(B) warstl &I eI ST ¥hal & |

(C) g 1 M2 Th o ag] 2|

(D) WIESI® aRU Had ARTT ©9 d IUART Bl Sl & |

3 Which type of goods from the following satisfy your wants in your daily life? 1

(A) Public goods (B) Economic goods
(C) Free goods (D) All of these
7 9 9 fh YaR @ Iy o AT @l STragasmaret & gl B 8 ¢
(A) GTEI® aRgd (B) onfie awgd
(€) 7w (D) wwd @
4  Which good out of the following can both be a single-use producer good 1
and a single-use consumer good ?
(A) Machinery (B) Raw material
(C) Sugarcane (D) Tractor

1 & ¥ -9l a5 THa—Sua IdTed a%] SN UhA—SUdRT STHIRT ] aH! &l
Tl & 7

(A) At (B) war A

(C) = (D) X
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5  Tata Iron and Steel Company is an example of : 1

(A) Partnership (B) A Company

(C) Co-operative Society (D) Sole Proprietorship
TR A 3R €I HT T IS ¢

(A) HER & (B) TH AT B

(C) wE®II |t @ (D) THa @ie &

6  Which revenue out of the following is equal to the price ? 1
(A) Average Revenue (B) Marginal Revenue
(C) Total Revenue (D) All of the above
= & | BF—dl 3™ BFd & IUET Bl 8 7
(A) ofgd o™ (B) dmid mm™
(C) o s (D) S % |

7  Which cost out of the following is calculated between two successive levels 1

of output ?
(A) Total cost (B) Average cost
(C) Marginal cost (D) None of the above
= & § S Fd AR % &1 I W 9T A WA 8 7
(A) & AT (B) off&d @I
(C) dmia @ (D) 7 ¥ ®ig T
8  Which type of money is guaranteed by the Government of India ? 1
(A) Cattle (B) Salt
(C) Currency notes and coins (D) None of the above

AT TR & 8 Y &l 95T &l Jraar & 15 7
(A) 9 (B) &
(C) & I ud foas (D) SN ¥ ¥ &5 Tl
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9 A shopkeeper sells 20 kg of dal at Rs. 15 per kg and 21 kg of dal at 1
Rs. 19 per kg. Calculate the Marginal Revenue.

(A) Rs. 100 (B) Rs. 99
(C) Rs. 98 (D) Rs. 96

T grer 20 feelt a1 15 %, wfq fbet & & @ o 21 fhell &t 19 5. wid Tt
% T Y d9a1 & | GHid 3 3T BT

(A) 100 =. (B) 99 =.
(C) 98 =. (D) 96 =.
10 Which out of the following is the currency of Europe ? 1
(A) Dollar (B) Euro
(C) Yen (D) Pound
frer & @ B F T A B 7
(A) = B) T
(C) T (D) dwe
11 A system of mutual exchange of goods is called . 1
(A) Barter system (B) Monetary system
(C) Either (A) or (B) (D) None of the above
JEgatl @1 uREie fafma goner @ wed ©
(A) =g fafra ol (B) s women
(C) (A) T (B) (D) = & &g &
12 Which of the following bank issues currency notes ? 1

(A) State Bank of India

(B) Industrial Financial Corporation of India

(C) Punjab National Bank

(D) Reserve Bank of India

/=1 o @ s §% B A @ FEitE (S s g e
(A) W< §& % sfean

(B) wri sfEifies faia fem

(C) dwg A9ee g

(D) ford §& e gfean
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13 Which is the advantage of international trade out of the following ? 1
(A) Interaction of people of different countries
(B) Production of new goods and services is encouraged.
(C) Both (A) and (B)
(D) None of the above
71 o ¥ BT SRIRIE AR B @ § 7
(A) fafe=T 2o & @M 9§ IREERe Jasia
(B) 3 aggsil oiX wanetl & IdET Hl Hidred
(€) (A) &R (B) I
(D) ¥ & &g T

14 Which of the following sectors are included in the secondary sector of our 1
economy ?

(A) Manufacturing

(B) Construction

(C) Gas, water and electricity supply

(D) All of the above

/1 9 9§ @1 &7 g srferaen & fadue amw | e § 7
(A) fafmior

(B) fomtor

(C) 4, 5@ oY fastell amyfd

(D) U & g

15 A bank received a deposit of Rs. 10,000 and gave a loan of Rs. 8,000 to a 1
borrower. How much is the secondary deposit ?

(A) Rs. 18,000 (B) Rs. 10,000
(C) Rs. 8,000 (D) None of the above

Th % 10,000 . SHT 9 Har & AR 8,000 T. BT FU TUeh IEehal bl Ial & |
39! fadiae ST o/ B e

(A) 18,000 . (B) 10,000 =.
(C) 8,000 . (D) 3® ¥ @5 7E
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16 When a country has economic relationship with the other countries it is

called ?

(A) Open economy (B) Developed economy
(C) Developing economy (D) Closed economy

o9 fepell 397 1 enfie wrrw @Y IS H WY BT ¥ Al IY BEd © ¢
(A) G sredegaw (B) fumfaa srefegeren

(C) famrasha erdegeren (D) <= erfegazen

17 Which out of the following is a consumer help organisation ?
(A) Consumer Grievance (B) Jago Grahak Jago
(C) Consumer Guidance Society (D) Consumer Forum
/1 o ¥ S| IUHIRT TEEES oA & 7
(A) U Ure (B) SN e SN
(C) Suwe frepraa @il (D) IUHIRT ®HIRA

18 Which out of the following is abiotic component of the environment ?

(A) Plants (B) Birds

(C) Forests (D) None of the above
7 9 ¥ ®F—|1 TR w1 oifae e § 7

(A) Us—dre (B) welr

(€) = (D) = ¥ ®E &

19 Which Consumer Right helps the consumer to fearlessly voice their

complaint ?

(A) Right to be Heard (B) Right to Choose

(C) Right to Safety (D) Right to Information

= § 9§ BF-|1 SuHeRT SR SuHERet Bf e siet fihEa 1 siE I8
¥ HIT HIAT & 7

(A) G @ AfIBR (B) T @ AfBR

(C) e &1 e (D) & &I 3B
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20  Which agency around the world advocates the protection of the environment? 1
(A) United Nations Environment Programme
(B) Environment Protection Agencies (EPA)
(C) Intergovernmental Panel on Climate Change (IPCC)
(D) All of the above
1 o @ sF-—d den faea ¥ aiEaRe SXEu o gemd Bl 6 7
(A) HFaH TE TGO B
(B) vferRer e e
(C) Siiwa siaaryg aitEdd 9 qus fauam
(D) U ®BRY

21 Fill in the blanks : 2

in the production of goods and services determines the level of

o @ 9fy

JEgetl o Farell % IR H & wWX B Myl s 2
22 State whether the statements given below are True/False : 2

(A) There are durable use consumer goods and durable use producer goods.

(B) Intermediate goods are used by the producers for further production of
final goods and services.

gaad fop F= ®oe @2 § a1 Tad

(A) JHSUERT U IEGY Td JHSUER SdEd agd Bl R |

(B) weget agall &1 IUANT Icrads A: STfH aigen ofi Tarstl % Ired b fog
HT B

23  Fill in the blanks : 2
Law of demand shows relation between price and demand and this is
why demand curve is sloping.
o = w i
AT @ M a8 /i & 4" ey qorian ¢, FAQ A/ Gk
IR BT &1
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24 State whether the statements given below are True/False : 2
(A) Demand is a desire backed by the ability to purchase.

(B) An improvement in the technology of production increases the cost of
production which leads to decrease in the supply of the given ccommodity.

garsg 6 =1 g ™ wuw 98 € @ Twa
(A) AT U UG 3T & Rae 9% hg B @ argar B

(B) SdET dhe # U ST & AN | g &Il & Sl fhal agg @l gfd @l
HH BT 5

25 Fill in the blanks : 2
information like ‘good’ is an example of an

o wm 9fy

Il S STeBT U SATEX & |
26 Fill in the blanks : 2
If the number of of a commodity is large the market demand for

the commodity will be

o = Wi
3R Tl a%g & B gEdr ffeh BNl Al SR H 39 A% Dl A
|
27 State whether the statements given below are True/False : 2

(A) 100% accuracy in Statistics is neither possible nor desirable.

(B) Forecasting is done on the basis of economic planning.

Jaasy fp = g ™ w96 ¥ @1 e
(A) dita! § | gfasa & goar (IRYET) 1 a1 g9 a & A1 &1 s |
(B) onfe e & ey uX wiasgerel & Sl § |
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28 Fill in the blanks : 2
method can be used when the respondents are
e @ wfaE
fater &1 IUART fpan ST Wehen & AT SRETan 2

29 Fill in the blanks : 2

Variables are of two types : and
o e a9t
I A YHR & B § qem

30 Fill in the blanks : 2
_ _people work in  business.
e @ «f e
I . SR - - T

31 Fill in the blanks : 2

building is possible because of contribution of scale

industries.
e @ wfE
1t UM % IENT & ANEN & BRI B T g
32 State whether the statements given below are True/False : 2

(A) Compared to the service sector, agriculture sector provides more job

opportunities.

(B) A small scale industry can be established by spending a minimum of
Rs. 25 lakh on plant and machinery.

Tad fop 7 e T ®ue & R A1 Ted

(A) GaT 5% B G § HY & TR & e FHIEATST Bl Giord ol § |

(B) w< Ud Al WX &H § &H 25 A@ S0 AT Hih qY A & SERT Bl T
ST Tl & |
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33 Match the following columns : 2
Column 'A'’ Column 'B'
A. Selling of goods and services (i)  Imports
by the domestic citizens to the
foreign citizens
B. International trade (i1)) Leads to specialization
(ii1) Open economy
(iv) Exports
e @ e &Y

Y ‘F ww "
A, OXq AR &R fagsh amet (i) omad
® e Td el & R
B. I=RIEH™ &AUR (i) fafdrrstor & goren
(ili) gar srefeewn
(iv)

34 Fill in the blanks : 2
We can contribute to sustainable development by finding for
non-renewable resources and using renewable resources
o = Wi

AR 6 & GO o ¥ ae T dd

35 Fill in the blanks : 2
Due to the relationship of price and quantity supplied of a commodity,
the supply curve is sloping.
e = Wi
fore g & HMa wd ITH g B A= & 9| T BN % B
B ACE 1 G )
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SECTION - B

gug — q

36 Explain ‘production’ as a basic economic activity. 2

T ATURY ST fhar & &9 o IR &l et & |

37 Explain the difference between a normal good and an inferior good. 2

Th A 9] 8T U "iedl a%] b a4 =il i e Hi|

38 Distinguish between labour-intensive technology and capital intensive 2
technology.
FH—TEA T YSil e qehiviehl & S 3T WE hi |
OR / et

Distinguish between product based division of labour and process based
division of labour.

TAEA MU FH—TI9e Td Uishar STy S TaHe & S =< WE B |

39 What is the purpose of computing an average value for a set of data ? 2
Miensl & TH e & fhal SHd Tod Bl TOMT HIT B T 69T & ¢ ATl B |
OR / sy

State any two functions of an average.

U ofEd & bl &l Bl @l ATen &i |

40 State formula for short cut method of calculating arithmetic mean with 2

meaning of symbols used.

BTN AT T IR B %l @Y [ 61 Wl qa5Y o 399 9ga
faet @1 e saEy|
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41 Explain the ‘Measure of Value’ function of money. 2
T % YAl & WY B Dl AT B
OR / 3t

A common problem with the barter system is ‘lack of division of goods’.

Explain.
‘T &b e @ ot axg fafra wone @ Ue 9 9ER § | STt B

42 Explain how trade encourages production of new goods and services. 2

T HY foh AR e Y& | 15 axgel U Janstl & STET Bl gTal odl § ¢

43 What are the effects of air pollution ? 2
g UG % FAT YU & 7

44 Describe ‘manufacturing’ as a production activity of the secondary sector. 2
fediraed &9 & fafmio Saed fraret &1 aue &)
OR / 3@t

How does agriculture provide food to millions in the country ?

fore g Y 391 § Al @ B A YSH BT § 7

45 Explain the ‘Right to Information’. 2

QAT % SATHHR B ATl B |
OR / 3ty

Explain the ‘Right to Consumer Education’.
SqHeRT f3tem % STt Sl e &l |

46 What do you understand by ‘Soil degradation” ? 2
T & § Y FT G & 7
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47 ‘In government sector the supply of any single good/service depends on the 3

process-based division of labour’. Explain.

BRI & ¥ el Usp awg/Ean &l gfd ufshan smenfi o faamed 9 R & 51
T B |
OR / 1y

Distinguish between Explicit cost and Implicit cost.
WY TF 3TOE ANTGl & 4/ 3 W HY|

48 Explain the role of capital as a factor of production. 3

IS % HEF &b &Y H YSi % ANEM Dl AT B |

49 Define ‘Entrepreneurship’. What is the objective of an entrepreneur ? 3

IH9fieiar bl ieaTsT ST | Teh IEHT T HT ST BT & 7

50 Compare the economy of USA and China in terms of manufacturing. 3
fafmio & @ag § g ua.u. ok 99 &l srdegawnen &l gaqr &1 |
OR / 3@t

Why is China attracting more money than India from foreign countries ?

Ff R B ga A I faelt § oifus g1 ®1 TG BT W 8 7

51 Explain how money acts as a ‘Standard of deferred payment’ with the help 3
of a suitable example.

HET % A A % A% b €9 H a1 b BIA Dl ATl Udh IEE DI Feraal
q Bl

52 How is data the basis of economic policies ? 3

Fiws fhg aie ¥ onfle i & smer ¥ 7
OR / 3y

What is the role of data in economic planning ?

Mees e o atfers! &l it & § 7
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53 Give five examples of economic relationship which a country can have with
other countries.

aTfier Tl & Ui SaTeXW UMY ST Ueh <97 &l o 39 & |1 &1 9ol 8 |
OR / 3@t

(a) What are any six major items of exports of India?

(b) What are any four major items of imports of India?

(a) Tea % Frafa @ B 6 qEr W ww ¥

(b) WIRA & ST &l BIg 4 &I 7S R & 7

54 Complete the following table :

Price of Quantity Demanded Market
Mangoes (Rs.) | HH, HHg HH Demand
40 50 75 - 250
80 40 60 - 200
120 30 45 - 150
140 20 30 - 100
160 10 15 - 50

(HH - Household)
=1 drfereer @ QU @ity -

AW H FHEd q TE A TR
(®.) ¥ % g T |
40 50 75 - 250
80 40 60 - 200
120 30 45 - 150
140 20 30 - 100
160 10 15 - 50
(HH - =)
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This Question Paper consists of 54 questions and 16 printed pages.
39 9T & 54 997 71 16 gha q= ¥ |

Roll No. Code No. 69/MAY/4
. FE 4.
set /% |C
ECONOMICS
ERFE=))
214)

Day and Date of Examination

(wden = fom 7 fe=in)

Signature of Invigilators 1.

(Friverni & &wner)

General Instructions :

1
2

Candidate must write his’/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of
questions contained in the Question Paper are the same as those printed on the top of the
first page. Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
Answer-Book given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate.

Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or
any such electronic devices in the Examination Hall.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper Code No. 69/MAY/4, Set |(C | on the Answer-Book.
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(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours
only.

A AFasT -

1
2

el UsT-UF % UE UNS UX STUAT ShAIh oAy foe |
FUAT YT Bl AT @ b UT-UT b HA YS! qAT Y Bl Ia! & WA & fraAr gem
U % G99 HUX BU T 39 91 B dArg W B o o U9 wivs w9 A ¥
yeel ¥ oMUl AR fa@wedt (A), (B), (C) a1 (D) ® ¥ I3 Th AT GAT & T &
T TaR-gRasdl § G wO fee ¥
JEgfTss el & wrg—|re gl gel & A Mgl e@fy & Hiax & < €1 agirss et
% g e & g9g & fean s
ST-—gRasd ¥ wEaH-fus S styar i Wt & sifiiea wel Wt rgwaie fay X
ThETt B ST ST SR
el Bl wlie B o hegpeie], WIS BF, U, TICEM I B Y seiazitie Sumie
B T TN B SACT TE T
-0 | ol W YR o HaE e gigen & Rufa § SN ergare € | Enm|
AT IT-YRAHT X Y995 &l e 4. 69/MAY/4, = |C| foe|
(®) WU haw fEai/eieh ¥ ¥ T Y, afe eng @ o A & 72 foRdl ua wron o
ST 9ahd ©
ehiepull, ARTYY, ST, TUTel!, BRI, T&hd S |
FUAT I-YRawr # iy U gt § o 6 o fpw Ao § I fow @ 2
(@) afy eng &S ua ol & arfaivaa fopelt o wror ® IR foad ¥, weAT &l a9s
# B ol Jfeat / Tafaat @ el daw s SRl

(1)
(2)

\.

[NOTE / ftat:

Answers of all questions are to be given in the Answer-Book given to you.

Yl Tl % IAT MUl o1 T SAY gRaer | @ fae|

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the
students will read the question paper only and will not write any answer on the
answer-book during this period.

39 WIT-U5 & TS & AU 15 e &1 98y feun T 319U a1 feawer
AUEY ¥ 02.15 99 fopar STl 02.15 S ¥ 02.30 §9 dh BE hdd
YT bl YT 3K 3H ATy % R I TAC-YReehl T HIE I TRl ferEdiT 1
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ECONOMICS

YT
(214)
Time : 3 Hours] [Maximum Marks : 100
g : 3 gue] [quiies : 100
Note :
(i) This question paper consists of 54 questions in all.

(i1))  All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section — A consists of :

(a) Q. No. 1 to 20 - Multiple Choice Questions (MCQs) carrying 1 mark each.
Select and write the most appropriate option out of the four options given in
each of these questions.

(b) Q. No. 21 to 35 - Objective type questions carrying 2 marks each (with 02
sub-parts of 1 mark each). Attempt these questions as per the instructions given
for each of the questions.

(v) Section — B consists of :

(a) Q. No. 36 to 46 - Very Short Answer type questions carrying 2 marks each to
be answered in the range of 30 to 50 words.

(b) Q. No. 47 to 52 - Short Answer type questions carrying 3 marks each to be
answered in the range of 50 to 80 words.

(¢) Q. No. 53 and 54 - Long Answer type questions carrying 5 marks each to be
answered in the range of 80 to 120 words.

o : (i) 39 999 H $a 54 U %

(i) = 99q orfrerd ¥\

(iii) Y% 9T & 8% I |EH q9fY MY |

(iv) - & 9T 39 UBR ¢ :

(a) WeT dE&m 1 ¥ 20 Sgiasedl Yot (MCQs) & U, U&d 1 3 &
T3 Ul H Udd U ¥ i M fyeedl W ¥ 999 Suge SaX g
3R faRag|

(b) Ut dE&m 21 § 35 % IS UBR & U §, UAH 2 IhH B ¥
(U 1 3 & 2 SWHT & 1Y) 39 U9l & I, Tdd 999 o
T FEel & STER Al

(V) @E—9 % U 39 UBR & :

(a) UST AT 36 ¥ 46 T Sifaeg AT UHK &, U 2 3Bl b U ¥,
e At 30 § 50 st # famm s ®

(b) ST HEAT 47 ¥ 52 I WY I YHN &, YA® 3 3l &b U &, Feewr
AT 50 ¥ 80 ereai H femm S OB

(c) 9T TE&AT 53 3 54 Y IO YA &, TAD S5 bl &b U9 &, Fiviewr
ST 80 § 120 gl H femm & R
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SECTION - A

gog — A
1  Payment of rent is an example of : 1
(A) Fixed cost (B) Variable cost
(C) Implicit cost (D) None of the above
oAt &1 A ST SETRX §
(A) Rex @ra (B) uftad-g @rd
(C) e wrT (D) Ui & ¥ S T
2 Which good out of the following can both be a single-use producer good 1
and a single-use consumer good ?
(A) Machinery (B) Raw material
(C) Sugarcane (D) Tractor

1 ¥ -9 a5 ThA-3UdN IAEH 9] SR Tha—SqanT SUHER 9] Q! 8l
ahdl &7

(A) @A (B) @ean A
(C) = (D) 3%
3 Which of the following statement is correct ? 1

(A) Both goods and services satisfy our wants.

(B) Services are tangible in nature.

(C) Wheat flour is a free good.

(D) Public goods are exclusively enjoyed by the individuals.
/=1 o ¥ B B W@ § 7

(A) aRU R o ST AR Sasdharsl @l QU Bl ¢ |
(B) @arstl @l 3T W1 Hobdl & |

(C) € & 3T Th R a%] & |

(D) WIS U Had AfRTa ®9  IUART Bl S 2 |

4  Which type of goods from the following satisfy your wants in your daily life? 1

(A) Public goods (B) Economic goods

(C) Free goods (D) All of these

1 o ¥ forg g @l SgU SNuch USRI &l STagaeshdmal &l U Bl & 7
(A) it awgd (B) snftier =gl

(€) 7% =gy (D) Soe &
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5  Kendriya Bhandar is an example of : 1

(A) Private Non-Profit Organization (B) Sole Proprietorship

(C) Co-operative Society (D) Indigenous Production Unit
B HUESR Uh IERI0 ¢
(A) il IR—awerl dTed (B) uad @i
(C) wemrdl |l (D) = IS IHE
6 A shopkeeper sells 20 kg of dal at Rs. 15 per kg and 21 kg of dal at 1
Rs. 19 per kg. Calculate the Marginal Revenue.
(A) Rs. 100 (B) Rs. 99
(C) Rs. 98 (D) Rs. 96

T ghMER 20 et g 15 %. i el & 3 ¥ ofiR 21 fohat 3 19 . 9id fopa
% T Y d9al & | Hid 3 3T BT

(A) 100 =. (B) 99 =.
(C) 98 =. (D) 96 =.
7  Which type of money is guaranteed by the Government of India ? 1
(A) Cattle (B) Salt
(C) Currency notes and coins (D) None of the above
HRA TXHR &1 68 Y &l q&T &l Argar & 5 & 7
(A) g (B) T
(C) & A wd s (D) TR F ¥ B3 &

8  Which cost out of the following is calculated between two successive levels 1

of output ?

(A) Total cost (B) Average cost

(C) Marginal cost (D) None of the above
= & § S T SEET % &1 I TR 9T A A 8 7
(A) P @ (B) sf|a @rtd

(C) dmia @ (D) T ¥ B3 T
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9  Which revenue out of the following is equal to the price ? 1

(A) Average Revenue (B) Marginal Revenue
(C) Total Revenue (D) All of the above
/=1 o ¥ BF-H o™ BEa % TS Bl 6 7
(A) efEd em (B) dmid amm
(C) @ T ™ (D) U & Il
10 Which out of the following is the function of money ? 1
(A) Medium of Exchange (B) Store of value
(C) Measure of value (D) All of the above
=1 o ¥ s q51 & FE § 7
(A) fafma @& Jreaw (B) T & WU
(C) 7wt &1 "9 (D) U % Il
11  When a country has economic relationship with the other countries it is 1
called ?
(A) Open economy (B) Developed economy
(C) Developing economy (D) Closed economy
o9 fopdl d91 1 omfdies TRy qEY <9 & WY TAT § Al I BEd |
(A) G sredegae (B) faemfaa srefemearen
(C) famrasiiar sredfegaeen (D) o= srdegawe
12 Which is the advantage of international trade out of the following ? 1

(A) Interaction of people of different countries

(B) Production of new goods and services is encouraged.
(C) Both (A) and (B)

(D) None of the above

1 & ¥ BT SRR AR & @ § 7

(A) fafe=T 2o & @M 9 qREERe Jasid

(B) % awgstl o qamstl % IR & W

(C) (A) & (B) Il

(D) s & &g T
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13 Which of the following bank issues currency notes ? 1
(A) State Bank of India
(B) Industrial Financial Corporation of India
(C) Punjab National Bank
(D) Reserve Bank of India
= o 9 om-a1 9% & A & it (S war &7
(A) wez I ow e
(B) wri sfEifies fodim frem
(C) dwg A9Fe ¥
(D) ford §& enw gfean

14 Which of the following sectors are included in the tertiary sector of our 1
economy ?
(A) Real Estate and Business Services
(B) Trade, Hotels and Restuarants
(C) Public Administration
(D) All of the above
1 o @ forg &9 @ T8 Srdfegawn & qAad a9h e fRdr San § 7
(A) TWTEX e 9T Fadids gand
(B) ®MR, ged Ud T@UH T8

(C) s w9mas
(D) S % G
15 A system of mutual exchange of goods is called . 1
(A) Barter system (B) Monetary system
(C) Either (A) or (B) (D) None of the above
Jegatl @1 uREie fafma goner @ wed ©
(A) =g Fafr o B) e Foreh
(C) (A) T (B) (D) = & Big &
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16 A bank received a deposit of Rs. 10,000 and gave a loan of Rs. 8,000 to a 1
borrower. How much is the secondary deposit ?

(A) Rs. 18,000 (B) Rs. 10,000
(C) Rs. 8,000 (D) None of the above

Th 9 10,000 . THT 9 HLar & AR 8,000 B. hT FU Teh IEMehal bl Ial & |
39! fadiae ST o= B e

(A) 18,000 %. (B) 10,000 .
(C) 8,000 . (D) 379 ¥ ®ig Tl

17 Which agency around the world advocates the protection of the environment? 1
(A) United Nations Environment Programme
(B) Environment Protection Agencies (EPA)
(C) Intergovernmental Panel on Climate Change (IPCC)
(D) All of the above
1 & @ BF-a1 den fasa § qatewer @Xen S g i © 7
(A) € Y qaTa B
(B) waerRer e usit
(C) Siisa ey i@ 9 qvs fqam
(D) Ui ®HIRA

18 Which Consumer Right helps the consumer to fearlessly voice their 1

complaint ?

(A) Right to be Heard (B) Right to Choose

(C) Right to Safety (D) Right to Information

1 & 9 BF-—a1 SUHERT TSR STHERISH Bi 8T siht hEa IX Siar I8
¥ Heg HIAT & 7

(A) G & ABR (B) T T aAfdR

(C) e &1 e (D) & & SATUBR
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19  Which out of the following is abiotic component of the environment ? 1

(A) Plants (B) Birds
(C) Forests (D) None of the above
7 9 ¥ ®H—|1 9 B oifae e 7
(A) Tz-qg (B) wef
(€) = (D) ¥ ¥ B &
20  Which out of the following is a consumer help organisation ? 1
(A) Consumer Grievance (B) Jago Grahak Jago

(C) Consumer Guidance Society (D) Consumer Forum

e & 9 -1 SUHeT 9EEe e § 7

(A) ot dreT (B) Y Wedh ST
(C) U fyeraa afifa (D) YT ®BIRA
21 State whether the statements given below are True/False : 2

(A) Public goods are available to all people in the society without any
discrimination.

(B) Economic goods are freely available.

AR f6 A R ™ ®ue @2 ¥ A Ted

(A) GESI® Ry S99 45—H/E & GHS % Ul @RN & g SU@ed B § |
(B) onf¥e argd qwd ® Iueed B % |

22 Fill in the blanks : 2
information like ‘good’ is an example of an
RCHIRSILIC RO
YA S 3T U I © |
23 Fill in the blanks : 2

in the production of goods and services determines the level of
e = wfE
JEgatl o Farell & IR H % WX @ Fyiia s 2
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24 Fill in the blanks : 2

Law of demand shows relation between price and demand and this is
why demand curve is sloping.
o wm w/fy
At &1 frEw wra ofik AT % 9 Tdy Igmar §, QA AT a9
3R e
25 State whether the statements given below are True/False : 2

(A) Demand is a desire backed by the ability to purchase.

(B) An improvement in the technology of production increases the cost of
production which leads to decrease in the supply of the given ccommodity.

garsy for = Y ™ wuw & € A1 g
(A) HFT Ush TEY 31 ¢ e dW %9 B Bl rEdn B

(B) SERT dhe # U SR & AN | g Har & Sl fhel a%g @l gfd @l
9 HIAT

26 State whether the statements given below are True/False : 2
(A) 100% accuracy in Statistics is neither possible nor desirable.

(B) Forecasting is done on the basis of economic planning.

Jaasy fp = g ™ w96 ¥ @1 e
(A) ditea! ¥ |1 gfasa & goar (IRYET) 1 @ 99 a & A1 & aisAE |
(B) onfiie fraeH & oy uX wiasgerel & Sl § |

27 Fill in the blanks : 2

method can be used when the respondents are
e wm afy
fafr @1 Sudr fpen s webar & afe SaRam 2|

69/MAY/4—214-C | 10 N imwnwmmmwn [ Contd...



28 Fill in the blanks : 2

Variables are of two types : and
o e a1t
T I YHR & B & LRIl
29 Fill in the blanks : 2
If the number of of a commodity is large the market demand for

the commodity will be

o e a9t
3R Tl axg & @ den ety BN a IR § 99 a%g @l A
BRI
30 Fill in the blanks : 2
building is possible because of contribution of scale
industries.
ECHIRSIL I RO
a1 o T % IEN & ANEN % BT & T
31 State whether the statements given below are True/False : 2

(A) Compared to the service sector, agriculture sector provides more job
opportunities.

(B) A small scale industry can be established by spending a minimum of
Rs. 25 lakh on plant and machinery.

g 6 Fre e ™ we g § A Td
(A) a1 &5 B G H B T VAT b e GHETE B G B 2|

(B) w< Ud Al WX &H § &H 25 T@ S0 T Hih qY A & SERT Bl Tmam
ST Tl & |
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32

33

34

35

Fill in the blanks : 2
people work in business.
e @ wfE
N T B B &
Fill in the blanks : 2
We can contribute to sustainable development by finding for
non-renewable resources and using renewable resources
o = Wi
TR A B9 RV e § aree @ 9ad 5|
Fill in the blanks : 2
The demand for a normal commodity is related to its
e = wfE
fordl T g @t AT Y daied sl ¢ 39h I
Match the following columns : 2
Column 'A' Column 'B'
A. Selling of goods and services (1)  Imports

by the domestic citizens to the
foreign citizens

B. International trade

=1 i @1 e @

T F
A, a¥ At &R sl ATt
B. S &MU

69/MAY/4—214-C | 12

(i1)) Leads to specialization
(iii)) Open economy
(iv) Exports

T ‘@
(i)  emard

(i) fafdriexwr & Sgm@n
(ili) gar srefeewn
(iv) frae
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SECTION - B

gug — q

36 Explain ‘Capital formation’ as a basic economic activity. 2

LT oM foham & &4 # ‘Ot i @7 e &)

37 Explain the ‘Measure of Value’ function of money. 2
a1 & el & WY B B ATEAT B
OR / 3ty

A common problem with the barter system is ‘lack of division of goods’.
Explain.

T % fauee & v Iy fafa gonel @ Us 9 99T § | et wel

38 What is the purpose of computing an average value for a set of data ? 2
aTihSl &% Uh WYE & fopdl ofEd o 1 TUMT B B T I29T © 7 ATl BL |
OR / 3t

State any two functions of an average.

Uh 3ad & el & Al hl AT Be |

39 Distinguish between labour-intensive technology and capital intensive 2

technology.
FH-TTEA Td Yol e dqehiebl & g 3T WE HY |
OR / 3@t

Distinguish between product based division of labour and process based
division of labour.

TAE MG FH—TIqe Td Uishar smeniid Jq—Taue & S =< WE B |
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40 Describe ‘manufacturing’ as a production activity of the secondary sector. 2
fadiae &s & fafmio Sars st &1 o Y|
OR / 3ty

How does agriculture provide food to millions in the country ?

fore R P I § @l AT Bl HISH YSH BT § 7

41 What are the effects of air pollution ? 2
g YW &6 FIT YT T 7

42 What do you understand by ‘habitat degradation’ ? 2
Wi SEE & A=t ¥ g /T s © 7

43 Explain the ‘Right to Information’. 2
YT o AR bl ATl HY |
OR / 31y
Explain the ‘Right to Consumer Education’.

Iudrerar fatem & Srfue @ e Bl

44 Explain how trade encourages production of new goods and services. 2

et HY foh AR fohg YR § 5 axgell Ud darstl % SR Bl ggTer ol § ¢

45 Explain the difference between a substitute good and a complementary good. 2

W %] 3 X %] & dId ST &l Are &1

46 State formula for short cut method of calculating arithmetic mean with 2

meaning of symbols used.

SHNIAT HE T URehad Hi & @Y {9ty &1 Bl gasy ofik 368 yga
faet @1 e FaEy|
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47 Compare the economy of USA and China in terms of manufacturing. 3
fafmi & @ag § g ua.u ok 99 &1 srdogawnsn &l o &1 |
OR / 3ty

Why is China attracting more money than India from foreign countries ?

HF AT B Ja H A faRe 9 oife HaT Bl SThiT HY @I 8 7

48 ‘In government sector the supply of any single good/service depends on the 3

process-based division of labour’. Explain.

BRI & ¥ el Usp awg/aan &l gfd fshar smenfi 9 fadmed 9X 4R & 51
et HH |
OR / 1y

Distinguish between Explicit cost and Implicit cost.

WE T T AN & S 3T WE B |

49 Explain the role of capital as a factor of production. 3

SRS % 9Ed % &9 H gl % MR Sl AT Bl |

50 “Whatever is produced is disposed of either for consumption or capital 3

formation or both’. Explain.

S BB T IaTfed fpar ST & IEe MU a1 af SUHRT & fod ar guir i
Al & T fopam Siman &1 W Bl

51 How is Direct personal investigation different from Indirect investigation ? 3
Th Al SHYE oty swee srdae fafn & &Y e § 7
OR / 3@t

Give the difference between Mail questionnaire method and Data collected
through correspondents.

‘Tl Y9Il IR R ‘Gareedl &I SMihs! & U8’ & S Y Sai |
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52 Explain how money acts as a ‘Standard of deferred payment’ with the help 3
of a suitable example.

HET % Al YA % A% b ©9 H T % B Dl ATEAT T SERIT DI Tl
q Bl

53 Complete the following table : 5

Price of Quantity demaded Market
Oranges (Rs.) | HHy HH, HH, Demand

10 25 75 - 200

20 20 60 - 150

30 15 45 - 100

40 10 30 - 70

50 5 15 - 40

(HH - Household)
= arfetent &1 QU @Y

o (5. ¥) F g T |
10 25 75 - 200
20 20 60 - 150
30 15 45 - 100
40 10 30 - 70
50 5 15 - 40
(HH - =)
54 Give five examples of economic relationship which a country can have with 5

other countries.

aTfier Trralf % Ui ITEX0 SIS ST U <91 1 8T <90 & |ie &l aohall 5 |
OR / 3ty

(a) What are any six major items of exports of India?

(b) What are any four major items of imports of India?

(a) WRA % Frafq B 3 6 er W ww ¥

(b) WA & ST &l BIg 4 &I 7S R & 7
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